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1 REBRHBELES,

@D x2+x-156 ® ax—x

@ x2-121 @ x*-26x+169

® ax*+3ax-208a ® 2x*-2x-420

@ 9x2+30x+25 4ax?~28axy+49ay?

@ 196x2-25y? 48ax*-3a

@ 2 (a+2b) x—(a+2b) y @ (@x-y)a*36(2x-y)

@ (3x-2y) 47 (3x-2y) +12 ® (4x+a)?- (3x-b)?

® (2x+5a) -3 (2x+5a) -88 ® (a+1) (x—y)2+15 (a+1) (x—y) +54 (a+1)
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1
@D (x+13) (x=12) @ x(a-1) O (x+11) (x-11) @D -13)2 & a(x+16) x-13) @ 2(x-15) (x+14)

@D Bx+5)2 @a(2x-7y)2 @ (14x+5y) (14x-5y) 3a(4x-1) (4x+1) @ (a+2b) 2x-y) @ (2x-y) (a+6) (a—6)
@ (3x—2y+4) (3x—2y+3) @@ (Tx+a-b) (x+atb) @ (2x+5a-11) 2x+5a+8) @® (at+1) (x—y+6) (x—y+9)
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	1 因数分解しなさい。

